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[1] (1) (z,m)=(-3,-1), (-1,1), (0,2), (3,1)
2) —1,3

[2] (1) a1:30)83—?a3:—3,a4:0. CL1:4O)Z%G3:—2,(I4:—1. a1:50)23
(13:—1,@4:—2.

(2) n=0PF+20,12+21+1
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(4) mmfﬂbmmaz%mn:ﬂfF%Jégfﬁéz%bﬁzzaét%mnzELég_i,

[Z3TEHZLRONL D Z3HFEET.

[3] (1) 2=—V3+i, n=6
(2) z=42i THR/MHEO

[4] (1) 11, 13
(2) aDBED YL = b — [a] + 1, a BEETIIARVE E= 0] — [a]-
(3) a1, as HEID L &= ([b1] — [ar] + 1)([bo] — [as] + 1),
ay LT ap DEHCTIRIRNE F ([by] — [a1] + 1)([bo] — [a2)]),
ay DT K ay DD & %= ([by] — [aa]) ([b2] — [as] + 1),
ar, ay DEELTIRZZNE F (by] — [a1])([bo] — [a2)).
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